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f e =it / PM13Y-60-U10 PHISFE0-ULS PM13Y-125-U25 PM15Y-60-U10 PILSE0-UL3 PM15Y-125-U25
PM13Y-80-U16 PM15Y-80-U16
FeFHHE
TEREK nm 1310 1310 1310 1550 1550 1550
HILEEK nm 1100~ 1290 1100~ 1290 1100~1290 1290~ 1520 1290~ 1520 1290~ 1520
BEHER um 6.0+0.5 6.0+05 6.0£05 65+05 65+05 65+05
=R dB/km <0.6 <06 <06 <06 <06 <0.6
EiZN mm <35 <35 <35 <4.0 <4.0 <4.0
BRI E(100m) dB <-25 <-30 <-30 <-25 <-30 <-30
RGES:
BREER um 60.0 1.0 80.0 £ 1.0 1245+ 1.0 60.0 £ 1.0 80.0+ 1.0 1245+ 1.0
AEEXE / WELINE L RIFER IR
BERER Hm 105.0 = 2.0 1350510 245.0 2.0 105.0 = 2.0 135010 245.0 +2.0
168.0 £ 1.0 168.0+ 1.0
SEREOE um <05 <05 <05 <05 <05 <0.5
BEFEE / < 1.0% < 1.0% < 1.0% < 1.0% < 1.0%
RS
TIERE °C -45~+85 -45~+85 -45~+85 -45~+85 -45~+85 ~45~+85
vt ) kpsi 100 100 100 100 100 100
EHES
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